(EEU\HT oP ll/0 2/!2) (RO‘M

04 An%c Mou&mw
”%XM&WW?% ’fT’Xmg 'H’E‘MT:M

o§ “S

NG
Zf'_@_}a}mﬁﬂz’o{(ow G?L)mn i
A e i
K —Y




n : \L 2 | .
J/ «’« _ju :
- e (gt

&;LL. IMvZL 'y M Wn (ﬂm %\ C-vpe SPocE) |
CT(K(V mo); @) = Sy V [n-]

Tl s

3 St D 7
Y e ket 5 g"'“"ﬁ‘ 18 L1 C‘iﬁ 4+ 10
g by o K ol
K= Hangy (K, A7)
OE‘F Zj‘ﬂ/\tv o %%%MX%‘T kmmra)(

S : APL(K) giEpr. C*(}(}@.) mLﬂf\ “;& cl""”‘



ﬂm@m W«»AJZ Al bt 1+ obe ety

LY

o odl
ATre wﬁw i H/iS[J@ MWW{%
H (‘SM A Pl "w
&\Hum»[h :{Q " Aw(ngur%M ng)%

RLJ© ALY) Iyl oo 4 ir + inoel ]



& dy w2 [y 4 7
L aE S 7 dere R BT QL ad /o A
o & mand acld fm (P
QleJoALfm] =

= T (P @@= Q<c,y>  n>

G K H-ee H(X @) = awmdilo M@}‘X 6.%;&,,\
'—""“)'Yreﬂﬂﬂaatvc(;n '---aﬁ’ \/:Hx()(;@) & e \/
= \SJJMYAMWMW(W/ Oc%fmﬁ

=) m)(@@:\/

%@‘ (@ X _Q,X n e ﬁ@"\ L
”;3@’}:): VI[-J :
H}(QX,' Q) &Jm V[-‘J

- e




=50 () (500, @) = A%, Y]
B T (SU(“\) Q@ = () <5(3,....- , Xn- 17



